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A. Tick the correct answer:-                                                                                                1x10=10                     

 

1. 20 

a. Five          b. Six           c. Twenty 

 

     2. 15 

a. Ten            b. Fifteen      c. Eight 

        

      3. 7+2= __________ 

 

a. 8                b. 9                 c. 10 

 

       4. 6+9= _________ 

a. 15              b. 16                 c. 20 

 

        5. 5-0= _________ 

a. 0                b.6                    c.5 

      

       6. 10-7= ________ 

a. 2                 b. 3                   c. 4 
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              7.  

            a. Triangle                  b. Rectangle              c.Circle 

 

8.Seventy Six 

                          a. 70                              b. 81                          c. 76 

 

           9. Hundred 

                          a.100                            b.99                            c.76 

           10. Eighty Nine 

                          a.66                               b.40                            c.89 

 

         B. Complete the following number:-                                                                               1x4=4                  

 

    1.   S__e__v e_n_ 

 

    2.   T w_e__ _l___ v __e__ 

 

    3. S___i__x__t__ee__n__ 

 

          4 .T_w__e_n___t___y__ 
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   C. Add the following:-                                                                                                          1x3=3                            

 

1.  1           0                                     2.   1         6                               3.      9 

 

+             3                                           +          2                                +      4 

___________                               ___________                       ___________ 

__1_____3____                        ___1______8__                    ___1__3______ 

  

    D. Subtract the following :-                                                                                                 1x3=3                     

1.   1         0                                              2.   1           6                                       3.  1          7 

    

          -  1         0                                                  -              3                                            -             5 

_______________                                    ______________                          ________________ 

______0____0___                                   _____1____3___                           ______1_____2____ 

 

   E. Subtract using number line :-                                                                                          1x2=2                

1.   10    -   5  =  ________5______ 

 

              ________________________________________________________________ 

 

 

       2.  16      -   4  =  _____12________ 

 

 

________________________________________________________________ 
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   F. Draw and colour any two shapes and write their names :-                            1x2=2          

 

    

 

                                                                                                  

 

 

 

 

 

                           CIRCLE                                                                       SQUARE  

 

 

    

    G. Arrange in ascending order:-                                                                                    1x3=3 

                

1. 17    ,    20    ,    11    ,   16 

____11______16____17____20______________________________________ 

 

2. 54     ,     23    ,   80    ,   61 

 

_____23______54____61___80_________________________________________ 

 

3. 9     ,       10     ,   4      ,    2 

 

_____2________4____9______10_____________________________________ 
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 H. Arrange in descending order :-                                                                                    1x 3=3                                   

 

1. 77     ,     40     ,     76      ,     90 

 

_____90______77______76_______40_____________________ 

2. 89      ,   54      ,   36       ,     71 

 

______89_____71_____54_______36_______________________ 

3. 57       ,    32,       99        ,     24 

 

______99______57____32______24________________________ 

 

I. Tick the greater number:-                                                                                                1x2=2 

 

1. 54    ,    90                                      2.   61      ,     50 

 

   J.   Tick the smaller number :-                                                                                                  1x2=2 

 

1. 76    ,    54                                       2. 33    ,61 

 

   K. Solve the following stories :-                                                                                               2x3=6 

                              

1. Anita has 13 balloons. She burst 3 balloons . How many balloons are left? 

                                                                 1           3 

                                                                  -           3 

                                                           _____________ 

                                                                   1           0 

                                                           ______________ 

                                                   = 10 balloons are left 
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1. There were 9 birds sitting on a branch of a tree. 3 more birds came. How many birds 

are now sitting on the tree? 

 

                                                                          9 

                                                              +          3 

                                                               ___________ 

                                                                   1       2 

                                                                 ___________ 

                                                       = 12 birds are sitting on the tree 

 

 

2. Niraj has 10 crayons. Ranit has 7 crayons. How many crayons do they have all? 

 

 

                                                             1        0 

                                                              +       7 

                                                        ___________ 

                                                              1       7 

                                                         ____________ 

                                                  = They have 17 crayons 

          *********************THE END************************* 
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